A = 1 OBJECT (SHIRT)

READ AND SELECT THE CORRECT ANSWER.
@= +1 OBJECTS (TROUSERS,

SHOES)

2 ANN’S MUM IS WEARING A PINK...
TROUSERS SKIRT

| 2 ANN’S DAD IS WEARING BLUE...

TROUSERS VEST

3. ANN’S DAD IS WEARING A BLUE...

SHIRT COAT

ANN IS WEARING A BLUE...
SHOES DRESS

ANN ..........ccoceveneee.. A PINK SCHOOL BAG

HAS GOT IS WEARING

THE TEACHER IS WEARING A BROWN

TROUSERS COAT

THE TEACHER ..........ccevviieiniisiineee.. ABROWN BAG
HAS GOT IS WEARING

8. GRANNY FIXIT ....cccviciainisinciniasics BLACK BOOTS

HAS GOT IS WEARING

9. GRANNY FIXIT ...c.cccovvviniiinnnnee.. ASMALL YELLOW BAG

HAS GOT IS WEARING




